Drumhead Assembly Exploded View



chriserbstoesser
Highlight

https://www.shop.lagunatools.com/HANDLE-DUST-COVER
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SCREW-1-4-20x1-2-ROUND-HEAD-MACH
https://www.shop.lagunatools.com/SCREW-1-4-20x1-2-ROUND-HEAD-MACH
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-1-4-INT.-TOOTH-LOCK
https://www.shop.lagunatools.com/WASHER-1-4-INT.-TOOTH-LOCK
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/37x2-DUST-COVER-MOUNT
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/HINGE-PLATED
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-1-4-SAE-222
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-1-4-20-HEX-RE6514001
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-3-8-16-FLANGE-LOCK
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/1-4-28-X-1-4-Set-Screw
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/CARR-SCREW-5-16-18-X-3-4
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/5-16-18-X-11-4-G5-MDL22-44
chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-FLAT-5-16-MDL-22-44
https://www.shop.lagunatools.com/WASHER-FLAT-5-16-MDL-22-44
https://www.shop.lagunatools.com/WASHER-FLAT-5-16-MDL-22-44
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SPACER-5-16-ID-REAR-DRUM
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/BEARING-1-FLANGE-W-2-SET-SCREWS-
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/OUTBOARD-DRUM-MOUNT-BACKET
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-5-16-18-HEX
https://www.shop.lagunatools.com/NUT-5-16-18-HEX
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SECONDARY-DRUM-ADJ.-KNOB
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/OUTBOARD-SECONDARY-DRUM-ADJ.-BKT.
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-5-16-SPLIT-LOCK
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SPACER-BRASS-SM-X-2
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-WAVE-3-8-ID
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SPRING-EXTENSION
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/KEY-STOCK-1-4-X-1-SQ.-MDL-22-44
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/OUTBOARD-INDICATOR-NEEDLE
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/FASTENER-ABRASIVE-OUTBOARD-ASSY
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/FHMS-6-32-x-3-8-phillips
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/DRUM-37-ASSEMBLY
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/FASTENER-ABRASIVE-INBOARD-ASSY
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/INBOARD-INDICATOR-NEEDLE
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/INBOARD-DRUM-MOUNT-BKT.
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/INBOARD-DRUM-MOUNT-BKT.
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/1-2-I.D.-SPACER
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/PULLEY-3.0-OD-X-1-2-ID-IDLER
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/PULLEY-5.0-OD-X-1.0-ID-B
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/37x2-BELT-GUARD-COVER
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/Screw-Tension-Rollers
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SPRING-COMPRESSION-TR-SM
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/CARR-SCREW-5-16-18-X-3-4
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/5-16-Bushing-use-50-3105
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/ROLLER-TENSION-37
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SCREW-10-24x3-8-SLOTTED-HEX-HEAD
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-5-16-18-fLANGE-LOCK

i 'I':n: Mumber Oyt
: 5B25x2  Both Models $B37x2 Uit
1 DUST COVER H1-1525A 40-3237 1

Ref.

Z

b

SCREW, 5/16"-18M5/8" 913002-203

(1%

10 BUTTON HEAD SOCKET SCREW, 3/8"- 16X1-1/4" 913002-121
11 FLAT WASHER, 3/8" 480R5-129

Fad

NYLON INSERT LOCK NUT, 5/16"-24UNF 635D5-249

&

25 OUTBOARD SECONDARY DRUM INDICATOR 95-165%



chriserbstoesser
Highlight

https://www.shop.lagunatools.com/HANDLE-DUST-COVER
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SCREW-1-4-20x1-2-ROUND-HEAD-MACH
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-1-4-INT.-TOOTH-LOCK
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/37x2-DUST-COVER-MOUNT
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/HINGE-PLATED
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-1-4-SAE-222
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-1-4-20-HEX-RE6514001
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-3-8-16-FLANGE-LOCK
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/1-4-28-X-1-4-Set-Screw
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/CARR-SCREW-5-16-18-X-3-4
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/5-16-18-X-11-4-G5-MDL22-44
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-FLAT-5-16-MDL-22-44
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SPACER-5-16-ID-REAR-DRUM
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/BEARING-1-FLANGE-W-2-SET-SCREWS-
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/OUTBOARD-DRUM-MOUNT-BACKET
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-5-16-18-HEX
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SECONDARY-DRUM-ADJ.-KNOB
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/OUTBOARD-SECONDARY-DRUM-ADJ.-BKT.
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-5-16-SPLIT-LOCK
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SPACER-BRASS-SM-X-2
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-WAVE-3-8-ID
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SPRING-EXTENSION
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/KEY-STOCK-1-4-X-1-SQ.-MDL-22-44
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/OUTBOARD-INDICATOR-NEEDLE
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/FASTENER-ABRASIVE-OUTBOARD-ASSY
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/FHMS-6-32-x-3-8-phillips
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/DRUM-37-ASSEMBLY
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/FASTENER-ABRASIVE-INBOARD-ASSY

Part Number Qry.J

Ref. Number Description
5B25x2 Both Models SBiTx2  Undt
35 INBOARDINDICATORNEEDIE | 400530 | 1
36 INBOARD SECONDARY DRUM INDICATOR 95- 1660 1
37 INBOARD SECONDARY DRUM ADJ. BRACKET =~ 400526 | 1
38 SPECIAL BOLT 913002238 |
3 SCREW, 1/4"- 20K E" 635005135 3512

)
e
LT

41 DUST PORT 63505-210

44 SPRING WASHER, M3 480D5-134 4
45 BEARING, 600127 BE-6001 72 2
46 HEX NUT. 7/16™-14 913002-246 1

L

SCREW, 5/16"-18X1/2" 913002-248

53 FLAT WASHER, 316" 913002-253 2
54 TENSION ROLLER BASE BRACKET 40-0306 2
54 TEXSION ROLLER SUSPENSION BRACKET, RIGHT 40-0302 3
56 TENSION ROLLER SUSPENSION BRCAKET, LEFT 40-0303 3

—

59 MIDDLE INNER BELT GUARD 40-1028A 40-1038
NYLON INSERT LOCK NUT, M3X0.5 480D5-138

2
-

63 PULLEY, SET SCREW, 5/16°-18X3/8" 10-8903 4
&4 HEX CAP SCREW, 3/16™-24X1/2" 91 3002-264 2
65 HEX NUT, 3167-24 91 3002-265 .
66 SPRING WASHER, 3/8" 480BS-111 8
67 BUMPER. DUST COVER 80-1035 2



chriserbstoesser
Highlight

https://www.shop.lagunatools.com/INBOARD-INDICATOR-NEEDLE
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/INBOARD-DRUM-MOUNT-BKT.
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/INBOARD-DRUM-MOUNT-BKT.
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/1-2-I.D.-SPACER
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/PULLEY-3.0-OD-X-1-2-ID-IDLER
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/PULLEY-5.0-OD-X-1.0-ID-B
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/37x2-BELT-GUARD-COVER
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/Screw-Tension-Rollers
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SPRING-COMPRESSION-TR-SM
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/CARR-SCREW-5-16-18-X-3-4
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/5-16-Bushing-use-50-3105
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/ROLLER-TENSION-37
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SCREW-10-24x3-8-SLOTTED-HEX-HEAD
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-5-16-18-fLANGE-LOCK

Conveyor Exploded View



chriserbstoesser
Highlight

https://www.shop.lagunatools.com/ROLLER-DRIVEN-HDPF-37
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/BUSHING-OIL-IMP-FLG-1-2-SQUARE
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-FLAT-5-16-MDL-22-44
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-3-8-16-NYLON-INSERT-LOCK
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-WAVE-3-8-ID
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/ROLLER-DRIVE-KNURLED-36-
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-3-8-16-FLANGE-LOCK
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SCREW-10-24x3-8-SLOTTED-HEX-HEAD
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/FUSE-HOLDER-180V-PF
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SCREW-6-32-X-11-4-PHIL-PAN
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/3-8-WROUGHT-WASHER
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/HHCS-5-16-18-X-1-2G5
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/intellisand-CONTROL-board
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/COUPLING-SHAFT-HDPF-RE31-3102
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/LOWER-INNER-BELT-GUARD
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/PULLEY-4.45-OD-X-1-1-8-ID-AB
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/KEY-STOCK-1-4-X-1-SQ.-MDL-22-44
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/BELT-V-BX80-SMX2-SE
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/CONVEYOR-BELT-37-35-x-67-1-2-BLK

Rel. - -I‘:nan:l:u Ory...
SB25x2  Both Models ~ SB37x2  Unit

o

3 TAKE UP-SLIDE BRACKET 635D5-328 2
4 LOCK-INT. TOOTH WASHER, 5/16" 635D5-336 4
5 HEX NUT, 5/16"-18 4B0BS-245 8
i WRENCH 635D5-333 2

8 TAKE UP-BASE BRACKET 63505-335 2
9 HEX CAP SCREW, 3/8°-16X1" 10-0205 L
10 HEX CAP SCREW, 5/16°-18X3" 63505-337 2

13 SIDE RAIL, RIGHT 404144 1
14 ROLLER SUPPORT BRACKET (3505-338 1

16 HEX CAP SCREW, 3/8°-16X3/4" 480B5-177 4

19 SIDE RAIL LEFT 40-4143 1
20 BOTTOM COVER 40-41164A 1
21 HEX CAT* SCREW, 5/8°-11X1" Q13002-321 1

23 BOTTOM COVER 40-4146 1
24 SPEED ADJUSTMANT LABLE 480BS-208 1
25 SWITCH BRACKET 40-0124A 1
26 MAGNETIC SWITCH., SHP, 1Ph 72-5400-1 1

MAGNETIC SWITCH, SHP, 3Fh 72-1311 1

27 [FUSEHOLDER | | 76024 | |1

28 SCREW, M4X0.7X12 913002-328 2
29 STRAIN RELIEF, PG-13.5 PG-13.5 2

CORD SET, SINGLE PHASE 913002-354 1

o CORD SET, THREE PHASE 913102-354

H

32 KNOB F-1X70-1 1


chriserbstoesser
Highlight

https://www.shop.lagunatools.com/ROLLER-DRIVEN-HDPF-37
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/BUSHING-OIL-IMP-FLG-1-2-SQUARE
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-FLAT-5-16-MDL-22-44
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-3-8-16-NYLON-INSERT-LOCK
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-WAVE-3-8-ID
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/ROLLER-DRIVE-KNURLED-36-
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-3-8-16-FLANGE-LOCK
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/36x1-BS-CONVEYOR-BED
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SCREW-10-24x3-8-SLOTTED-HEX-HEAD
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/FUSE-HOLDER-180V-PF
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SCREW-6-32-X-11-4-PHIL-PAN

Ref. - Pant Number Quy..!

Number ctpees SB25x2  BothModels  SBi37x2 Usit
33 STRAIM RELIEF. 6P FLAREY O 2 16190 |
35 D GEAR MOTOR, 180VDC O] 3003303 |
36 MAINCORD SET, SINGLE PHASE 913002-336A ]

MAIN CORD SET, THREE PHASE 913102-336 1
M CONTROL HOUSING 40-5013A 1
40  FLAT WASHER, M6 635D5-343 4
41 HEX NUT, Méx1.0 GIEINS- 344 4
42 PLASTIC SUPPORT POST 635D5-345 2
43 SET SCREW. 5/16"-18X38° 1 O-BHE 2
45 CARRIAGE BOLT, 5/16"-18X1" 10-1204 4
4  MOTOR SHP, 1Ph 70-0507 ]

MOTOR, SHP, 3Ph 70-1503 1
47 HEX NUT, #10-32UNF 43085216 2
48 SPRING WASHER. 5/16° SB0B5-167 4

50 LOCK WASHER, Mb 635005-342 4

53 SET SCREW, 5/16°-18X3/3° 10-85903% 2
54  STRAIN RELIEF, PG-13.5 PG-13.5-2 2
55 SOCKET HEAD CAP SCREW, MGX1.0X80 93267-2-409 4
57 FLAT WASHER. 5/16” LD. THIN 72-1270-3 |
S8 JAM NUT, 5/16"-32UNEF 72-1270-4 1
5%  CONVEYORBELT | 6034 | 60037 1
60  FILLER BELT PLATE 40-1010 1
61  HEX CAP SCREW, 1/47-20X3/8" 913002-361 2
62  FLAT WASHER, 1/4” 480BS-145 2
L] SCREW, #10-32UNFXIS2” 48085214 '
64  HEXNUT, %811 913002-364 i


chriserbstoesser
Highlight

https://www.shop.lagunatools.com/3-8-WROUGHT-WASHER
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/HHCS-5-16-18-X-1-2G5
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/intellisand-CONTROL-board
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/COUPLING-SHAFT-HDPF-RE31-3102
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/LOWER-INNER-BELT-GUARD
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/PULLEY-4.45-OD-X-1-1-8-ID-AB
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/KEY-STOCK-1-4-X-1-SQ.-MDL-22-44
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/BELT-V-BX80-SMX2-SE
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/CONVEYOR-BELT-37-35-x-67-1-2-BLK

65  LOCK-EXT. TOOTH WASHER. M5 635DS-350 3

T DL
E) iy 1

67 JUNCTION BOX 913003-354 1

69 SCREW, M4X0.7X6 913003-356 4

71 SCREW, M5X0.8X8 913003-361 1




Supermax Stand Exploded Diagrams:

@
..
o
o od :8
. o® . ® o
o ...‘ )
.. o
: :
@ ®
°o® ..: ®



chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-OILLITE-5-8-ID
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/CAP-3-PLASTIC-COLUMN-TUBE
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SUPPORT-SCREW-ADJ-BLACKw-bearing
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SHSS-5-16-18-X-3-8
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/CAP-1-PLASTIC
https://www.shop.lagunatools.com/CAP-1-PLASTIC
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/DEPTH-GAGE-POINTER
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/DEPTH-GAGE-RULE-black
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SUPPORT-DRUM-12-BLACK
https://www.shop.lagunatools.com/SUPPORT-DRUM-12-BLACK
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SUPPORT-SCREW-ADJ-BLACKElongated
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SUPPORT-RH-TABLE-12-BLACK
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-5-16-18-HEX
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-FLAT-5-16-MDL-22-44
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SOC-HD-SCR-BRS-TIP-5-16-18-X-3-4
https://www.shop.lagunatools.com/SOC-HD-SCR-BRS-TIP-5-16-18-X-3-4
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-FLAT-5-16-MDL-22-44
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-5-16-18-HEX
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SUPPORT-LH-TABLE-12-BLACK
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/37x2-TABLE-MOUNT-BRACKET
chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-5-16-HARDNED
https://www.shop.lagunatools.com/WASHER-5-16-HARDNED
https://www.shop.lagunatools.com/WASHER-5-16-HARDNED
https://www.shop.lagunatools.com/WASHER-5-16-HARDNED
https://www.shop.lagunatools.com/WASHER-5-16-HARDNED
https://www.shop.lagunatools.com/WASHER-5-16-HARDNED
https://www.shop.lagunatools.com/WASHER-5-16-HARDNED
https://www.shop.lagunatools.com/WASHER-5-16-HARDNED
https://www.shop.lagunatools.com/WASHER-5-16-HARDNED
https://www.shop.lagunatools.com/WASHER-5-16-HARDNED
https://www.shop.lagunatools.com/WASHER-5-16-HARDNED
chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-3-8-16-FLANGE-LOCK
https://www.shop.lagunatools.com/NUT-3-8-16-FLANGE-LOCK
https://www.shop.lagunatools.com/NUT-3-8-16-FLANGE-LOCK
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SCREW-ADJUSMENT-RH
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/GEAR-MITER-with-set-screws
https://www.shop.lagunatools.com/GEAR-MITER-with-set-screws
chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/BUSHING-flanged-round
https://www.shop.lagunatools.com/BUSHING-flanged-round
https://www.shop.lagunatools.com/BUSHING-flanged-round
https://www.shop.lagunatools.com/BUSHING-flanged-round
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/TUBE-COLUMN-UNIVERSAL-44
https://www.shop.lagunatools.com/TUBE-COLUMN-UNIVERSAL-44
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/COLLAR-SHAFT-1-2ID
https://www.shop.lagunatools.com/COLLAR-SHAFT-1-2ID
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/MOTOR-MOUNT
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SUPPORT-MOTOR-10-BLACK
chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/HEX-HD-BOLT3-8-16-X-1-1-2-G5-MDL22
https://www.shop.lagunatools.com/HEX-HD-BOLT3-8-16-X-1-1-2-G5-MDL22
https://www.shop.lagunatools.com/HEX-HD-BOLT3-8-16-X-1-1-2-G5-MDL22
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/LEG
https://www.shop.lagunatools.com/LEG
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/COLUMN-BASE-MACHINED-BLACK
https://www.shop.lagunatools.com/COLUMN-BASE-MACHINED-BLACK
chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/GLIDE-LEG-3-8-16-X-1-1-2
https://www.shop.lagunatools.com/GLIDE-LEG-3-8-16-X-1-1-2
chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-3-8-16-HEXMDL22-44-PRO-DRUM-HD
https://www.shop.lagunatools.com/NUT-3-8-16-HEXMDL22-44-PRO-DRUM-HD
https://www.shop.lagunatools.com/NUT-3-8-16-HEXMDL22-44-PRO-DRUM-HD
https://www.shop.lagunatools.com/NUT-3-8-16-HEXMDL22-44-PRO-DRUM-HD
https://www.shop.lagunatools.com/NUT-3-8-16-HEXMDL22-44-PRO-DRUM-HD
https://www.shop.lagunatools.com/NUT-3-8-16-HEXMDL22-44-PRO-DRUM-HD
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/36x1-SB-BASE-SUPPORT-BRACKET
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/CLIP-RETAINING-5-8
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SCREW-FOLLOW-LH-SM-PRO25

Supermax Stand Assembly Parts List

Parts List:
" Part Number Quy.t
Ref. Number Diescription
SB25x2  Both Models  SB37x2  Unit
] HEIGHT ADJUSTMENT HANDWHEEL 31-0027 1
2 SET SCREW, 1/4"-20X1/4" 480BS-113 11

L

SET SCREW, 1/4"-20X3/8" FLAREVOIS3G1119

L]

9 SCREW, 3/167-24X3/8" 913002-109 2z
9A DEFTH GAUGE ROD 30-1260HR 1
9B DECAL, SCALE 94-1654 1

10 HEX NUT., 1/27-13 925002-109 8 2

18 KMOB, LOCKING WISET SCREW Bl-3132W

=
-
bt

21 BUTTON HEAD SOCKET SCREW, 3/87-16X1-1/4" 213002-121

-
o

B

SET SCREW, 1/2"-13X1/2"

:

-1

TRANSFER ROD 30-3033-02 30-3033-03 1



chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-OILLITE-5-8-ID
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/CAP-3-PLASTIC-COLUMN-TUBE
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SUPPORT-SCREW-ADJ-BLACKw-bearing
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SHSS-5-16-18-X-3-8
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/CAP-1-PLASTIC
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/DEPTH-GAGE-POINTER
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/DEPTH-GAGE-RULE-black
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SUPPORT-DRUM-12-BLACK
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SUPPORT-SCREW-ADJ-BLACKElongated
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SUPPORT-RH-TABLE-12-BLACK
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-5-16-18-HEX
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-FLAT-5-16-MDL-22-44
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SOC-HD-SCR-BRS-TIP-5-16-18-X-3-4
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SUPPORT-LH-TABLE-12-BLACK
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/37x2-TABLE-MOUNT-BRACKET
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/WASHER-5-16-HARDNED
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-3-8-16-FLANGE-LOCK
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SCREW-ADJUSMENT-RH
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/GEAR-MITER-with-set-screws
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/BUSHING-flanged-round
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/TUBE-COLUMN-UNIVERSAL-44
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/COLLAR-SHAFT-1-2ID
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/MOTOR-MOUNT

41 BEARING, REZZ BB-R8ZZ 3

42 KNOB 913002-142

44 E-RING, E10 635D5-139 1

45 SPRING WASHER, 3/8" 480BS-111 28

46  NYLON WASHER, 10X16X2 91267-145 1

47 eastR L 980130 | 4

47.1  HEXNUT, 112" 98-0130-1 4

98-0130-2 4

47.2 HEX NUT, 1/27-13X34X3



chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SUPPORT-MOTOR-10-BLACK
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/HEX-HD-BOLT3-8-16-X-1-1-2-G5-MDL22
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/LEG
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/COLUMN-BASE-MACHINED-BLACK
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/GLIDE-LEG-3-8-16-X-1-1-2
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/NUT-3-8-16-HEXMDL22-44-PRO-DRUM-HD
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/36x1-SB-BASE-SUPPORT-BRACKET
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/CLIP-RETAINING-5-8
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/SCREW-FOLLOW-LH-SM-PRO25
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/CASTER-SET-BOX-OF-4-stud-1-2



